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PROGRAM-5

# TO CHECK THE YEAR IS LEAP OR NOT.
CODE:-

.#tn check the year is leap or not
v=int (input {("enter year™))
def check(y):
if v%4==0:
p:;rti it is leap year™)
print {"it is not a le e )
cqeck(yﬂ

== RESTART: C:\Uger ‘Pk
enter yearEDE_& % ém 6 O‘

it if“¢f€¥33#\ QDEigzea

===== RESTART: C:‘\Users‘\Del.
enter yearZ2025
it i3 not a leap year




PROGRAM-13

# TO CONVERT CELSIUS TO FAHRENHEIT.
CODE:-

#T0 CONVERT CELCIUS TO FAHRENHEIT
CE=int {input {"enter temperature in celsius"™))
def con{c):
f=(c*9/5)+32
print ("temperature in fahrenheit™, )
con (CE)|

OUTPUT:- "4
\e OV

enter temperature in ce sﬁfgti
temperature in {7" { il i | e
RLE RA0~

enter temperature in celsius0
temperature in fahrenheit 32.0
1




PROGRAM-14
# to find the sum of the natural no.
CODE:-

='rl"D F"I]: SM OF I]y.]?Uh—aI_ NO.

num—=int (input ("enter any postive no."))

sSum= (num# |:'1.11'r+l]],-’,-’

print ("the sum of the natural no. up ::",n‘m.,";a”,s::n‘lj

OUTPUT:-

tesa\ e’

SIS
ENCEr any posStive no.5 -‘1
E

the sum of the na to S is 6 O
s=======s —=(=@\i\re\N O&QL===§= RESTART

\

enter any postive no.l2
the sum of the natural no. up to 12 iz 78
|




PROGRAM-16

# TO FIND LARGEST AMONG 3.

CODE:

#T0 FIND LARGEST RAMONG 3
numl=int {input {("enter no."))
numZz=int {input ("enter no."}))
num3=int {input {("enter no."})
n=max (numl , num, 1Jn3]
print{n,"is ;a:gia:”ﬂ

OUTPUT:

enter no.2354

enter no.l547 " \N "
enter no. 145 e e
2354 is @* Pag

enter no.2
enter no.4154
enter no.2444
ﬁlE& iz largest




PROGRAM-30
#input a no. and print it’s tens digit
CODE:-

#TO INPUT A NO. AND DISPLAY TENS DIGIT
H=int {(input [("enter no."})}
lef tn{a):
h=a%100
b=a%l0
print ("tens digit ;a",(h—b]flq]
tn (H)

OUTPUT:- \e.C0 uk

enter no.23333444°7
tens digit is 4.0
1




PROGRAM-37
#to find area of a square.
CODE:-

#TO FIND AREA OF L SQUARE

def area{):

a=int (input ("enter side:"))
print ("area of the square ;a",a*a,”::;:‘ﬂ"]
areaf)

OUTPUT:- Qotese

enter 3ide:4
area of the square is 16 unit”2

enter 3ide:6
area of the square is 36 unit”"2

enter aide:8
area of the aquare is &4 unit”"2
|




